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BRAABEBRABFERRIC, OR/NR2F008bmg =1 (UT. HABREHF) &
SREREESI LR b—)LiEbng (LT, Z2E£EF) LoEYFENREHFMETS>ENT.
2RI X 28D O R A —N—ZKIZ K 5 BHERZEOKR SRR EIT o 1=,

HERIE., TRUF2EIANEREER2IFIEELEFHEEERLEEEEERER
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LT,

2. ABRAFE
2. 1. RRRE
BREO-—BEER1ITRY,
x1 BBE-EK

B ZEHF
2qamA OX/NXEF> 0§ 5mg [=F0] 2 LR b—)LEE Smg
axg 1EPICAORNREF AL LD 2ng
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2. 2. 1. K LE5HER

HEBRAF EBERFNZ ) O —N—KIZEY, ThENR 1 (ARNREFLELT
Smg) ZEBREATKA L. ZERFNIAK 150 & ELHICBRERABFICHEBERREORS
L. mEFHRAXNREZF VIREE LC/NS/NS RIS TAIE L=,

2. 2. 2. XKHYERESHER

HEBRAR EBERFNZ I O —N—KIZEY, ThE 1 (ARNREFLELT
Smg) Z/K 150mL & & ICEERABFICHRBERRZORES L. MBEHFOINREF URE
% LC/MS/MSSEIZTHRIE L 1=,
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KELEBESHBRUVKHYREHRICETHAMBEPIORNREFUREZ L EICEY
LE=EMBENSA—FORRER2RURI I, HRELADOFEHMEPIO NS F
VEEHBRZEN I RUE 2I1TR LT,

3. 1. K LIREHER
EYMFEHREEDFTM/ AT A —2 TH S AUCy0, B U Cpox DXTHIBD FHEDZED 90%1E
ERMEIEZENZTN log(1.0264) ~log(1.2028) R log(0.9748) ~log(1.1972) TH > 1=,
BREXRLOEMFHREMHARTSA FS54 01 ORFHEOHEREE (AIC, B G, D
FEEDTFIEDED I0%SEEXE A 1og (0. 80) ~ log (1. 25) DEFEIZH B & FEAREFI &
REMFNIEYENICRZ L KT D) ICEDTHELTo-HERE. HRER CFLEHAF
Ik LESHRIZEVWTEYENICRFTH 1=,




3. 2. KkHYKEHER
EMFHIRFEDFTM/ N5 A —2 TH B AUCo 19, BT Cpox DI BUIED TEIIEDZE D 90%1E
BERXEIEZENRZEN 1og(0.9943) ~log(1.1336) 2T log(0. 9475) ~log(1.1241) TH > 1=,
EREELKOEMFHIRFERARTA FS14 21 ORFEDOHEEE (AUC, BT Gy D
FEBEDTFIEDZED I0%EREXE A 1og (0. 80) ~ log (1. 25) DEEIZH S & TEARKFI &
ZREMRNIEYENICRZ L KT D) ICEDTHELZTo-HER. HBRER L ZLEHA
FKkHYBREHRICEVWTEYEMICRAFTH o 1=,
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<K LIEEHER (RERFIKTRA >

K2 EMBENS A4

Al NS A =4 BENT A4
AUC,_75p Cirax Thax Ti2 Kel
(ng-h/mlL) (ng/mL) (h) (h) (h™")
ARNREAFY 81.56 1.28 4.4 14.4 0. 0499
0D £ 5mg T=%01 +17.09 +1.78 *1.1 +2.9 +0. 0089
REERF 15.31 6. 87 4.4 18.2 0.0422
E@EfE. Smg) +23.25 +2.23 *+1.2 +6.5 +0. 0130

(Mean=S.D., n=20)
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K3 EMBENS A4

AHE/ S A =4

BSENTA—A

AUC,_y4p, Cirax Thax Ti2 Kel
(ng-h/mlL) (ng/mL) (h) (h) (h™")
ARNREAFY 12.776 6. 39 4.6 16. 2 0.0511
0D £ 5mg T=%01 +26. 81 +2. 34 *+1.0 +10. 2 +0. 0169
REERF 69. 42 6. 26 4.1 14.2 0.05622
@, dmg) +25.73 +2.51 +1.1 +3.8 +0.0144

(ng/mL)
10 7

m

# 8]

th

A

R 67

N

R

24

a’.‘

b

= 9

E

(Mean=S.D., n=20)

—O—OR/NAZF0ODESmegl =01
—O— 1ZHEBK| (L@EEE. Smg)
Mean=*S.D.(n=20)

R’E & OB
2 MBHFORNREFUREHE

72 (h)




